
          

 

     

             

            

         

6   LHS ≡ 2 (cos 2θ cos 45o – sin 2θ sin 45o) M1 3.1a correct use of cos(A+ B) formula 

   ≡ 2 × 1
2

(cos 2θ–sin 2θ) or (cos 2θ–sin 2θ) B1 1.1 cos 45o or sin 45o = 1
2

 seen or implied 

   ≡ cos2 θ – 2sin θ cos θ – sin2 θ A1 2.2a correctly obtained – use of double angle formulae clear 
   Alternative method    
   RHS ≡ cos 2θ – sin 2θ M1   

   ≡ 1 1
2 2

2( cos 2 sin 2 )θ θ−    or Rcos α = 1, Rsin α = 1, R2 = 2, tan α = 1, α = 45o  

   ≡ 2 (cos 2θ cos 45o – sin 2θ sin 45o) M1   
   ≡ 2 cos(2θ + 45o) A1   
    [3]   
             

            

          
    

            
      
          

       

         
                

           
     

       
       

       
          

       


